Saads | Headquariers | Eliga | Haupisiz
Farque Industrial da ¥Wiadoras, lote 23
3050481 Pamplihosa — Portugal

Tal. 4357 231 7406 322
Fax +351 31 #48 334§
Email garalioaragnl.com
Wab www.caragnl.cam

ceragni




INDICE
INDEX
INDEX
INDEX

M10x30
Emation

M10x20
Bisalado

10 anes a eriar eapacos inspiradores com solucdes perfeilas!
10 years crealing inaplring apaces with perfed soluliona!

10 ana a oréer des eapaces inspirants avec des sclutions parfaiie!

10 Jahre firealicn ven perfeklen Tsungen fiir inapirierende Tiwme!

caragni.com

| M1 030 | 15x15=08 1020 15x15 Ficha Técnica
Bisalado Ru=tico 030 20x20 Technical Data Sheei
k16230 Caractéristigues Techniques
M1Ex15=0,7 Technische Datenblatt

Lista de embalagem
Packaging list

Ligte de Colisags
Packlist




-'I-u‘_;u;_-; -y -
4 22

b g b "
+: s sl k
= "

ol .I_




150

e prate

g 2 M10x20

Biselado
g8a0 120
varde ermatto
: |
Wi raga
] o oo masars
: | = 550
| S R - tos
| - .-
13T 1 i R L
I L J ‘ I. -I I=
— 1 = IF | F |' -
i —— | &00 oo
} m_ = O | dnrenie bramoa
= .
L
- 570 a0
— m - T Eranix




M10x30

Biselado

I'linl" NI T

e
B - i
e

A

730

ans

780

———

.

150

P

120

(S o Hi b}

Ga0

720

S I 2= Ly

550

0oo

Erance

oo

branee




15x15x0,8

Ristico




M10x20
M10x30 o

M15x30 "
M15x15x0,7

140

150

450

charniais

290
pEiacno

220
AT el

200

fege

430
pérpera

&0

lavanda




03n
funda vt

2%0
plslzchi

aoa
Erance
brifianie




FICHA TECNICA

Technical Data Sheet
Caractéristiques technigques
Technische Datenblatt

M10x30 2 M10x20
Emetion Biselade

M10x30 [I- 15x15x0,8
Biselato Pidshico

M10x20 6 ‘ 15x15
M10x30 20x20
M15x30

M15x15x0,7

Dirneraiaa
[irearmsans

Tﬂlrkr:lldl SIpEERE N
Teldrenca de [ painsmir
Thicknass tolarmoe

Eactdin s anichicde clsm arests
. Pactdsqralt duw oiben
Zirai ghirmn of sdgus

Ovriag |:|r|.|l.|l:|.lh
. mqm“
-!'.-mlhulnl--r:-nhn

Marandsds
Plardrid
il | Flainnes

Eharh i

Rrarpile da degun
Abwarphian d sau
E 'Workar shzcrpion
W ms

H-u.lll-hl:lll H.l:lil:
Rlaivtancs i b Ausien
rey wirarglh

Esaquluriighut

Baairt b Furckhagem

M

Ingfumbighsit

Eanint den rumrichinn

E E&-I.lillu.l.:prnluh i hmarin
SN ragidarcs
Flackenbaata redighesii
Baarel wan praduics
Gairicas dslim
Fidet mix

Chirmioese d'erpds dors siipam
Basinei hansahald chersicals

Themkslisnimisndghs Heahel

W EH [EQ
1DSiE-2

HFEMISD
135852

WFEH 1200
105E5-2

WP EH 150
1D5ES-1

WP EH 152
1051

WP EH |50
1DSiE-1

MR ERIEQ
TD5EE-S

MR ERIEQ
HI5E5-11

WPEH 150
TIES-14

WO EH IEG
10E45-73

ratsEnee i redde de falicacia WAL 0K

The sssisson = K o Be mwage e o b s fin o i s- 00 K
Erut rome
i & ey £ g s 6 e i e Er2lle: e o el o by - D0

e crrnm ¢ ofe de febrceen +A 0E S

- 05 men

-1 %

+# 05 &

s ooy rmmtrmd <0 0K 70 TR imbernl <0 IH S

-0 TR " e diageral 44 1 PR

D krmaion comirnln <005, ) 050 " lidirain +0 24,
Dixiorrian wt

AR

iigorale =1
Camiral parssiers: 40 K 0 -0 G bl 0 0

.78, " W g carwrnan 100
o Frdrmrearg + 01K (-0 1K laboul + D O K 7
-] K" Swrpsgeiiniresung <1 114

(LET- 34

bk 15 W'l
bikeryry v 1 £ W o2
Aevwrage 15 Wi mml
Durchechrit 15 H ¢ mmZ

Exigidm
Ex
Fllql?r*l-d
Erfordurlich

rrirs Qs I

i Claans E

WL OA PEESAMOEMdal i
STEHDARLZ EM 111
WilLEUR AR AITE ERTda 11
ITAHOAED 1kl

+-15K

1.2 rmm

w-01%

DR INE

LEAODE
SRENLRTL

-00e/ 03X

Td.. 9%

HMH{ merd

CARACT. DIMENSIONAIS | DIMEMSIONAL DATA | CARACTERISTIQUES MENSURABLES | ABMESSUNGEN

Cimrer: giew criew 15 o 6 maen i e o8 cann o

cariarms
arri o
earrla s

korfarm
carrha e
carlarmas
e o

CARACTERISTICAS FISICAS | CARACTERISTIQUES PHISIQUES | PHISICAL DATA | PHYSISCHE DATEN

arrlarmis
sarhanmes
o o
korfarm
arrha rms
arrlarms

cariorrma
horfarm

LISTA DE
EMBALAGEM

Packaging | Colisage | Yerpackung

FORMATO PECAS/TAILA W I'PALETE CAIXAIPALETE el KR/PALETE
SIZE FIECES /B, M FPALLET BILIFALLET £l KGPALLET
THILLE FIECES/EDITE M FALETTE BOITE/PALETTE L=l KGPALETTE

GRIBE STUCKE B0 W IPALETTE BEM/PALETTE - KRIPALETTE

T CR I I E—

5,825 14,5 mm 24 = 1, T8m" 81,12m* 104 10,35 1102
Mi0x20cmibatene 4 | | _ _ b= |
%8119 27 mm 17 = 0,3m" 45,28m" 1025

5.5 298 1 I mm 23 = 0.65m" 71, 78m" 1170

1Bxbell 8 emfdetieo ] | _ _ _

148z 148 x8 mom M = 1.575m" TTAZm"

P8 2 198z T mm I5=1m" 5,78 1124

| Mi0x30em | _ _ E— S—
P 2295 1 7 mmm I3 =1 10&m* 1144 1215

| M1Ex30gm 4 | — — e
T&8x 258 27 mm 2= m Sm 1245 1114
F&Bx 148 27 mom 34 =0.52m" 24, 30m" 115 24

| {bfben 4§ 7 7 7] | —
158 x 150 x5 5 mm b= 115m* 115 Ly
08 2200 24,5 mm 5= 1Ty 1.5 1117




ceragni

A& Imagenc Jpremniahs s rendws projechuaks de ubrk de
Tha Imagens chawn I renders prajectiva autharing
Lac Images mentrdes cant rend & crdabion prajeciie
Lag Imaes montrédes canl rend &= création projeclie

BRI CRRLCS SR HUCO DL WERRL
§rific Ion wrdmizsgd s

arwinis despmer 1 e 0 el g ed remdering

raa H D dis il go | Eatdugyum Dasign

Fin iip e - il e dam oo o vk D
up_ Wiy Ui i - pemcc: dasis o v Pl oy
[l




